Lerums BK

Tisdagsbridge for de med hoégre handikap hcp 2020-01-14

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poang % Namn MID Klubb
1 13 286.8 66.38 Tommy Rhedin - Ingela Sarnhagen 47906 31691 Lerums BK
2 19 250.3 57.94  Birgitta Parenius - Ake Parenius 57123 57124 Lerums BK
3 8 247.6 57.30 Lars-Goran Snickert - Ann Snickert 66952 66951 BK Debut
4 7 231.2 53.51 Ingela Wangl6f - Arne Andersen 50117 48525 Lerums BK
5 20 229.2 53.06 Lennart Eriksson - Agneta Leffler 67015 65879 Lerums BK
6 15 221.7 51.32 Elisabeth Svenson - Bjorn Svensson 48538 68138 Lerums BK
7 12 221.2 51.21 Kjell Karlsson - Marie Karlsson 67705 67704 Lerums BK
8 17 219.9 50.89  Stina Petersson - Marita Johansson 56553 58852 Lerums BK
9 9 219.8 50.88 Margareta Algurén - Sven-Ake Nilsson 48524 34928 Lerums BK
10 14 212.2 49.13  Goran Nisshagen - Ronny Terbrant 63732 31704 Lerums BK
11 16 211.5 48.95 Irene Hedstrom - Lars-Goran Hedstrém 63726 63727 Lerums BK
12 3 2114 48.94  UlIf Tallborn - Gunilla Tallborn 42676 42677 Lerums BK
13 10 210.5 48.72  Gunnar Mattsson - Kerstin Mattsson 45228 45229 Lerums BK
14 18 207.2 47.97  Lennart Westlund - Kerstin Westlund 63739 63738 Lerums BK
15 5 202.8 46.95 Eva Samuelsson - Lilian Frantzich 36478 36503 Lerums BK - Alingsas BS
16 11 191.3 44.27  Britt Frodell - Bengt Stridh 58884 66275 Lerums BK
17 6 189.2 43.80 Kjell Lindahl - Sonny Wiklund 61656 42678 Lerums BK
18 1 188.9 43.72  Christina Dahlberg Norlin - Anne Gustafsson 34912 68127 Lerums BK
19 2 185.1 42.86 Christina Larsson - Gunilla Ekeroth 31699 34913 Lerums BK
20 4 182.3 42.19 Lars Palm - Ingela Terbrant 65449 31703 Lerums BK
1 «ED Bésta kontrakt 2 a4 Basta kontrakt 3 & E86 Bésta kontrakt
Nord v 854 4v N =420 Ost v DKn64 3NT O =-400 Syd v KD87 ANT V =-630
Ingen 498532 NS + D109643 ov + 87653
#Kn73 & ¢ v & NT *72 & ¢ v & NT *4 & ¢ v & NT
4Kn962 4743 N 8 10108 9 4 EKn98 4732 N276 43 4102 4KKn9753 N 2 6 4 3 3
vKn3 v 10762 S 7 109 8 9 vE75 v 932 S376 414 v 1065 v EKn4 S 26 333
+ D64 ¢ EKn 0433514 4 Kn2 + EK8 O 106 7 9 9 + ED9 ¢+ Kn O 116 9 1010
210654 #KD92 V43343 #KKn109 #EB843 V 106 7 9 9 #K10982 #ED6 V 116 9 1010
4 K1085 « KD1065 «D4
v EKD9 v K108 v 932
+ K107 75 + K1042
~E8 «D65 #Kn753
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
13 1 3NN+3 &9 490 180 00|13 1 INN+1 8 120 180 00|17 5 44 0-1 2 100 18.0 0.0
7 9 3NN= *2 400 150 30| 4 17 34 V-2 vQ 100 16.0 20|11 18 14 O+1 ¢2 -110 160 2.0
18 10 3NS= a2 400 150 3.0(18 10 3NV-1 +3 50 13.0 50| 8 10 34 O= v2 -140 110 7.0
19 2 2NN+2 &9 180 120 60|19 2 3s4V-1 ¢4 50 13.0 50|12 4 24 O+1 T -140 110 7.0
6 14 2NS+1 +4 150 90 90| 7 9 2aV= +9 90 100 80|13 2 24 O+1 ¢4 -140 110 7.0
20 5 2NN+1 &9 150 90 90| 6 14 34V +1 +3 -130 50 13.0|19 3 24 0+1 2 -140 110 7.0
11 3 3v S= ¢4 140 6.0 12.0|11 3 3#V+l 4 -130 50 13.0|14 7 24 O0+2 +4 -170 6.0 12.0
4 17 24 S= +4 110 3.0 15.0(12 15 24V +2 &4 -130 50 13.0| 9 16 INV+3 v7 -180 4.0 14.0
12 15 3¢ N= «K 110 3.0 150(20 5 3#V+1 +3 -130 50 13.0| 1 15 44 0O+1 4 -650 1.0 17.0
16 8 3NS-2 46 -100 0.0 18016 8 2¢ N-2 a2 -200 0.0 18.0| 6 20 44 O+1 ¢2 -650 1.0 17.0
4 4 Kn762 Bésta kontrakt 5 & K62 Bésta kontrakt 6 4102 Bésta kontrakt
Vast v EK854 5¢v N =650 Nord v KKn987 64 O =-920 Ost v 64 3NT S =400
Alla + E65 NS + Kn92 ov + K863
&5 & ¢ v & NT &K3 & ¢ v & NT #E9873 & ¢ v & NT
4D1095 484 N9 6 11108 4 EKn10984 & - N12845 4 K843 4« DKn96 N 10107 6 9
v 763 vD10 S 9 6 11108 v- vD103 S12745 v 108753 vKD9 S 10107 6 9
¢ KD932 ¢ Kn874 047 233 +383 ¢ EK7654 O 12105 9 7 ¢ Kn54 + D102 02266 3
«D #E10986 V47133 #ED1075 #8642 V 12105 9 7 *2 #Kn106 V22¢6¢63
& EK3 4 D753 4 E75
v Kn92 v E6542 v EKn2
+10 +D10 ¢ E97
#KKn7432 #Kn9 #KD54
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
17 5 4v N= a4 620 17.0 10| 9 11 44 V-3 v7 150 180 00|15 2 3NS+1 v3 430 18.0 0.0
19 3 4vy N= a4 620 170 10(13 3 44 V-2 v9 100 140 40(10 16 3NS= 43 400 140 4.0
13 2 3vy N+2 8 200 140 40|15 2 3a4V-2 v9 100 140 40|14 8 3NS= 3 400 140 4.0
9 16 3y N+1 ¢4 170 120 6.0(20 7 3NO-2 v6 100 140 40|18 12 3NS= 4K 400 14.0 4.0
12 4 2NN+1 8 150 100 80|10 16 24 V+1 &3 -140 9.0 9.0| 4 19 2NS+2 v5 180 7.0 11.0
6 20 24 S= +9 90 8.0 10.0|18 12 24 V+1 v7 -140 90 90| 9 11 INS+3 v3 180 70 11.0
1 15 34 N-1 *7 -100 40 140 1 5 3¢ O+2 2 -150 6.0 12.0|13 3 2NS+2 a4 180 7.0 11.0
8 10 4v N-1 *6 -100 40 140| 4 19 34 V+2 &3 -200 20 16.0|20 7 2NS+2 v3 180 7.0 11.0
11 18 4v N-1 *A -100 40 140 6 17 3vy N-2 ¢ A -200 20 16.0| 1 5 INS+2 v7 150 20 16.0
14 7 3NN-4 *7 -400 0.0 18014 8 4vy N-2 ¢ A -200 20 16.0| 6 17 44 N= v9 130 0.0 18.0
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7 4 EK973 Basta kontrakt 8 4 EKKn6 Basta kontrakt 9 a7 Basta kontrakt
Syd v4 2v V =-110 Vast v K52 2NTV =-120 Nord v92 7v O =-2210
Alla 4962 Ingen + Kn986 ov + D632
#8762 & ¢ v & NT D9 & ¢ v & NT #KD8542 & ¢ v & NT
4 DKn8652 44 N6 656 6 53 « D1097 N457 765 « EKn9 &« D6542 N6 1011
vK vED10863 S 6 6 5 7 6 vED43 v7 S45765 vE108 vKDKn765 S 6 1 0 1 1
¢ 10874 ¢ED 076 867 ¢ K753 ¢ E104 09 756 8 ¢ EKn874 ¢ K O 6 11131212
*E4 #Kn1093 V66867 #1064 #KKn872 V97568 #E10 »3 V 6 11131212
10 & 842 » K1083
v Kn9752 v Kn10986 v43
¢ KKn53 +D2 + 1095
#KD5 #E53 #Kn976
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
15 3 44 V-4 v4 400 180 0.0(13 4 INN+1 «Q 120 180 00(15 4 3¢ V-1 a7 100 18.0 0.0
1 18 3NO-3 ¢+5 300 160 20| 2 6 14 N-1 »2 -50 140 40| 3 7 3NV+1 »8 -630 15.0 3.0
2 6 264V-2 v4 200 90 90| 8 20 2¢vS-1 +3 50 140 40|20 9 3NV+1 »2 -630 150 3.0
7 17 34 V-2 v4 200 90 90|16 11 2NN-1 8 50 140 40| 2 18 4y O+1 8 -650 110 7.0
13 4 24 V-2 v4 200 90 90| 1 18 INS-2 v3 -100 7.0 11.0|16 12 4vy O+l 43 -650 110 7.0
14 9 3NO-2 +5 200 9.0 9.0(10 12 24 N-2 v7 -100 70 11.0| 6 19 4v O+2 8 -680 6.0 12.0
16 11 2N O -2 +3 200 90 9.0(15 3 2NS-2 ¢7 -100 70 11.0|13 5 4v O+2 48 -680 6.0 12.0
19 5 3NO-2 +J 200 90 9.0(19 5 2NS-2 &4 -100 7.0 11.0|14 10 44 O+2 &7 -680 6.0 12.0
8 20 3vy O-1 T 100 10 17.0| 7 17 3v S-3 3 -150 20 16.0|17 8 3NV +3 8 -690 20 16.0
10 12 2¢ O-1 «T 100 1.0 170|114 9 44 N-5 v7 -250 00 18011 1 6vyO= &6  -1430 0.0 18.0
10 & DKn9 Bésta kontrakt 11 4532 Bésta kontrakt 12  EK104 Bésta kontrakt
Ost v K85 2NT S =120 Syd vKD9 44 V =-420 Vast vE 7v V D -6 1400
Alla + EKn9 Ingen ¢ 654 NS + K932
*8764 & ¢ v & NT *K976 & ¢ v & NT #EKNn73 & ¢ v & NT
a2 « K7643 N7 7678 ~Kn984 4 EK1076 N8 6 334 4Kn975 432 N 11136 1212
vD6 vE109743 S 7 7 6 7 8 v6543 vE1072 S86 334 v 83 vKDKn97642 S 11126 1212
¢+ K10854 ¢ 7 O6 6 75 4 ¢ K102 ¢ DKn9 O5 7 10107 465 ¢+ D108 020711
#KDKn92 #10 V66754 85 *E vV 57 10107 #D10982 &- v20711
 E1085 aD D86
v Kn2 vKn8 v 105
+ D632 + E873 ¢+ EKn74
#E53 #DKn10432 #K654
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 19 3NV-2 +9 200 170 10|10 20 44 O-2 ¢A 100 180 00|13 6 5vDO-4 +A 800 18.0 0.0
13 5 3NV-2 9 200 170 10(18 3 INS-2 a) -100 16.0 2.0|10 20 44 N= vK 620 150 3.0
3 7 Pass 11.0 70(13 6 34 0= &T -140 120 6.0|17 9 44 N= vJ] 620 150 3.0
11 1 Pass 11.0 7.0|14 11 2vO+1 «Q -140 120 6.0(12 2 5¢vDO-3 ¢A 500 12.0 6.0
14 10 Pass 11.0 70(16 1 3vO= *0Q -140 120 6.0|/16 1 4v0O-3 &4 150 10.0 8.0
20 9 Pass 11.0 70| 4 8 14 O+3 &T -170 6.0 120|19 7 3v0O-1 ¢ A 50 8.0 10.0
15 4 2NN-1 a7 -100 6.0 12.0|17 9 14 O+3 +A -170 6.0 12.0| 4 8 54 N-1 +8 -100 5.0 13.0
17 8 2v 0= &A -110 40 140(19 7 14 O+3 #Q -170 6.0 12.0|14 11 44 N-1 vK -100 5.0 13.0
16 12 24 S-2 vQ -200 20 16.0|12 2 44 0= &T -420 1.0 17.0|18 3 2¢ 0= *7 -110 2.0 16.0
2 18 3¢ S4 »2 -400 0.0 18.0(15 5 44 0= &T -420 1.0 170|15 5 64DN-1 vK -200 0.0 18.0
13 4 K1062 Basta kontrakt 14 4 E943 Basta kontrakt 15 452 Basta kontrakt
Nord v Kn1098 3v O =-140 Ost vKD63 44 S =420 Syd v EKKn5 3NT N =600
Alla + E106 Ingen ¢+ Kn43 NS + KDKn76
*76 & ¢ v & NT *K4 & ¢ v & NT »K8 & ¢ v & NT
aD4 « EKn98 N3 6 4565 «DKn6 #1085 N 107 10109 s E  Kn1096 N7 87 99
v7643 vEKD S36445 vE1052 ¢98 S 107 10109 vD10732 v986 S787 938
¢D72 ¢53 O 107 9 8 7 ¢ K972 +D1086 036 334 + E102 4983 O6 364 4
#E952 #DKn43 vV 107 9 8 8 &Kn2 #10765 V 36334 #E532 &DKn4 V6 3644
4753 & K72 4« KD8743
v 52 vKn74 va
+ KKn984 ¢ E5 +54
+K108 #ED983 #10976
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr ut Res Poéang
5 9 2NO-2 +9 200 180 00| 1 3 4v N= +8 420 180 00| 6 10 24 S= «A 110 18.0 0.0
11 20 3v V-1 +6 100 140 4.0(17 10 2v V-5 &4 250 16.0 20| 1 14 2¢ N= v6 90 140 4.0
14 12 24 O-1 +8 100 140 40(18 4 1vN+3 &T 170 140 40| 2 4 2¢ N= v9 90 14.0 4.0
15 6 3v0O-1 +9 100 140 40| 8 19 1v N+2 ¢Q 140 11.0 70(18 5 2¢ N= v6 90 140 4.0
16 2 2¢v N-1 +5 -100 10.0 8.0|16 2 24 S+1 &2 140 11.0 70(13 8 3NN-1 a) -100 9.0 9.0
8 19 24 O= 8 -110 8.0 100 5 9 3NS-1 2 -50 5.0 13.0(20 12 3¢ N-1 *4 -100 9.0 9.0
7 13 INO+1 ¢8 -120 40 140(11 20 4y N-1 +6 -50 50 13.0|17 11 2NV= a2 -120 6.0 12.0
17 10 INO+1 ¢4 -120 40 140(14 12 3NS-1 +Q -50 50 13.0( 9 19 3¢ N-3 v9 -300 3.0 15.0
18 4 INO+1 ¢4 -120 40 140(15 6 3NS-1 2 -50 50 13.0(16 3 3¢ N-3 &4 -300 3.0 15.0
1 3 2NO+1 +4 -150 0.0 180 7 13 3NS-2 ¢7 -100 0.0 18.0(15 7 44DS-2 &A -500 0.0 18.0
16 & EKn Bésta kontrakt 17 49 Bésta kontrakt 18 4« Kn10873 Bésta kontrakt
Vast vED98 3NT N =400 Nord v32 34 O =-140 Ost v EKn92 34 O =-110
ov + 862 Ingen + K10843 NS +83
#E1075 & ¢ v & NT #Kn10965 & ¢ v & NT &E5 & ¢ v & NT
K109 » D8765 N9 9969 s E4 « DKn762 N6 5445 a4 « ED952 N456 65
v K5 vKn764 S999609 vK1064 vE75 S65445 v D65 v K107 S45666
¢ DKn105 ¢ K7 04 447 4 ¢ EDKn6 ¢ 975 078998 ¢+ KD52 ¢ E64 098777
#9843 #Kn6 V44474 »K83 *D2 V789938 #D9864 #73 V98777
4432 » K10853 » K6
v 1032 v DKn98 v 843
¢ E943 2 + Kn1097
#KD2 *E74 #KKn102
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
13 8 INN+3 45 180 170 10| 7 11 44DV-4 &) 800 180 00| 3 5 3NV-3 v2 150 18.0 0.0
16 3 INN+3 45 180 170 10| 9 13 3NV-3 +3 150 160 20|14 2 2NO-2 *J 100 14.0 4.0
6 10 2v N+2 &6 170 140 40|19 10 3NV-2 LN 100 13.0 50(16 4 2NV-2 v2 100 140 4.0
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1 14 2NN+1 45 150 120 6.0|20 1 3NV-2 *5 100 130 50(120 1 3NO-2 +J 100 140 4.0
9 19 24 N+2 45 130 100 80| 8 15 3v O-1 2 50 8.0 100 9 13 2NO-1 ¢*J 50 8.0 10.0
2 4 2NN= 48 120 70 11.0|14 2 3NV-1 +3 50 8.0 10.0(17 12 14 O-1 *2 50 8.0 10.0
18 5 2NN= a7 120 70 11.0|18 6 2NV-1 *J 50 8.0 10.0(19 10 14 O-1 +J 50 8.0 10.0
20 12 24 O-1 *2 100 40 140| 3 5 24V= 49 -110 40 140 7 11 INV= L) -90 3.0 15.0
15 7 2&#N-= a5 90 20 16.0|16 4 3NV= +3 -400 10 17.0| 8 15 INV= ] -90 3.0 15.0
17 11 2¢v N-1 *6 -50 0.0 18.0(|17 12 3NV= *5 -400 10 170|18 6 3+V= 3 -110 0.0 18.0
19 « EKD Basta kontrakt 20 & EK54 Basta kontrakt 21 498432 Basta kontrakt
Syd v 9752 2NTSD-1-100 |Vast v 1032 3&V =-110 Nord v EKn104 74 O D -6 1400
oV ¢+ 76 Alla ¢+ D2 NS + K7
»K984 & ¢ v & NT #D987 & ¢ v o NT #KKn & ¢ v & NT
4532 » Kn9864 N8 6 757 482 4 Kn1096 N3 66 66 » 105 «Kn76 N 5 118 1210
vK103 vEKn4 S86 757 vE v KD875 S 36666 vK9872 vD3 S 5 118 1210
¢ KKn43 ¢ 1098 047686 ¢ Kn107653 ¢ - 096776 +6 ¢ D543 072412
*E62 *73 V47685 #Kn652 *EK104 VI9677°F€6 #E7642 #10985 V71412
« 107 «D73 « EKD
v D86 v Kn964 v 65
+ ED52 + EK984 ¢ EKn10982
#DKn105 3 «D3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 10 3« N+1 vA 130 170 10|19 11 2NO -4 ¢K 400 180 00| 5 7 44 N+1 T 650 17.0 1.0
17 1 2#N+2 vA 130 170 10| 4 6 2¢v0-2 «3 200 140 40|14 4 44 N+1 &T 650 170 1.0
4 6 3#N-= v4 110 120 60| 8 12 2¢v O-2 3 200 140 40|10 15 3NN+1 &8 630 13.0 5.0
19 11 24 N+1 44 110 120 60|18 7 24 O-2 ¢4 200 140 40|16 6 3NN+1 ¢3 630 130 5.0
20 2 3#N-= a] 110 120 6.0| 5 16 24 N= «A 110 100 80| 2 17 44 N= 8 620 8.0 10.0
8 12 Pass 8.0 10.0(15 9 INV-1 *8 100 80 100 9 1 44 N= vQ 620 8.0 10.0
3 14 3#N-1 vA -50 6.0 12.0|17 1 24 N-1 *A -100 6.0 12.0|11 13 44 N= 8 620 8.0 10.0
5 16 14 O= v6 -80 40 140| 3 14 2vO= *A -110 3.0 15019 12 3NS= «A 600 4.0 14.0
15 9 2NN-2 a4 -100 20 16.0|20 2 240+1 +A -110 30 150|220 3 3¢ S+2 #A 150 20 16.0
18 7 5 N-3 vA -150 0.0 18.0(13 10 24 N-2 vK -200 0.0 18018 8 34 N= T 140 0.0 18.0
22 4 K1063 Basta kontrakt 23 4532 Basta kontrakt 24 4 D62 Basta kontrakt
Ost v 7652 7¢ O =-2140 Syd v Kn2 34 V =-140 Vast vE2 INTV =-90
ov + Kn5 Alla + E853 Ingen + E976
+D62 & ¢ v & NT #8652 & ¢ v &4 NT *K985 & ¢ v o NT
« E87 » Kn54 N10131 «KKn8  4E1096 N45335 «Knl04 4E98 N6 6566
vE4 vKD108 S10131 v 63 v ED1095 S 45335 vKKn8 7543 S 6 656 6
+ K942 ¢+ ED106 0 1213121012 ¢ Kn42 41076 088389 8 ¢ KDKn #1053 o777 77
#KKn103 #E5 V 1213121012 #K10974 #E vV 88898 #7642 #ED3 v7777T7
D92 «D74 & K753
v Kn93 v K874 vD1096
+ 873 + KD9 ¢ 842
#9874 #DKn3 +Knl0
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
16 6 2NV +3 43 -210 180 0.0 7 16 1v S+1 #4 110 180 00|10 2 INN= v7 90 18.0 0.0
19 12 2NO+5 &7 270 16.0 2.0[{20 4 34 0-1 v4 100 16.0 20| 9 18 1&#N= 28 70 16.0 2.0
2 17 3NO+1 &9 -630 140 40| 6 8 INS= 48 90 140 40| 6 8 1vS-1 ¢J -50 8.0 10.0
14 4 3NO+2 a2 -660 11.0 7.0| 5 14 24 O= +K -110 120 6.0| 7 16 INS-1 +K -50 8.0 10.0
20 3 3NV+2 3 -660 11.0 7.0| 9 18 1v S-2 *4 -200 8.0 10.0(12 13 14 N-1 v4 -50 8.0 10.0
9 1 3NO+3 4 -690 70 11.0|15 11 1v S-2 *9 -200 8.0 10.0|15 11 2NS-1 +K -50 8.0 10.0
10 15 3NO+3 v3 -690 70 11.0|19 1 1vS-2 8 -200 8.0 100(17 3 1&#N-1 8 -50 8.0 10.0
11 13 5NO+2 &9 -720 30 150|10 2 1vS-3 *4 -300 20 16019 1 INS-1 v8 -50 8.0 10.0
18 8 3NO+4 a2 -720 3.0 15012 13 1v S-3 8 -300 20 16.0|20 4 INN-1 *T -50 8.0 10.0
5 7 6NO+1 #7 -1470 0.0 18017 3 1vS-3 *2 -300 20 16.0| 5 14 24 S-2 +K -100 0.0 18.0
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